
Guide Gib series FLW 

  
  

  

 

  

 

  

  

 

Designation of a guide gib with a wolfram-carbid coating 

with H = 10mm, B = 18mm, L = 66mm:  

Guide gib FLW 10 

>>Delivery includes the pictured seal rings.<< 

  

  

  

Subject to changes.  

Special versions: 

On request, by sending of an 

explanatory sketch. 

  

  

  

CAD 

Code Dimensions [mm] 
clamping 

screws 

Admissible load (guideline 

values) 

Lubricant supply 

[mm] 

FLW H B L d1 d2 d3 e k ISO 4762 N [N] d6 
l +/- 

0,1 

c +/- 

0,1 

 

6* 6 12 41 2,5 4,8 M3 6,5 1,7 M3x40 900 0,0 0,0 0 

 

8* 8 14 56 2,5 4,8 M3 8,0 1,7 M4x55 1900 0,0 0,0 0 

 

10 10 18 66 3,3 5,9 M4 10,0 2,2 M5x65 2800 2,5 15,0 10 

 

12 12 20 76 3,3 5,9 M4 11,0 2,2 M6x75 3600 2,5 17,5 11 

 

12/1 12 20 110 3,3 5,9 M4 11,0 2,2 M6x110 7000 2,5 26,5 11 

 

15 15 25 100 4,3 7,4 M5 15,0 3,0 M8x100 6000 2,5 22,2 15 

 

15/1 15 30 150 6,8 10,4 M8 18,0 4,5 M8x150 18000 2,5 34,0 18 

 

20 20 35 200 6,8 10,4 M8 22,0 4,5 M12x200 28000 3,0 44,0 22 

 

26 26 45 250 8,4 13,5 M10 28,0 6,0 M16x250 45000 3,0 54,0 28 
 

  

  
  

* FLW 6 and FLW 8 without lubrication holes. 
  

    
   

 

www.shhangou.com         
         

  www.shhangou.com         
         

  www.shhangou.com         
         

  www.shhangou.com

www.shhangou.com         
         

  www.shhangou.com         
         

  www.shhangou.com         
         

  www.shhangou.com

javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271359400001.dxf','/static/dfx2d_201001271359400001.zip','/static/sat3d_201001271359400001.sat','/static/sat3d_201001271359400001.zip','/static/step3d_201001271359400001.stp','/static/step3d_201001271359400001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271410190001.dxf','/static/dfx2d_201001271410190001.zip','/static/sat3d_201001271410190001.sat','/static/sat3d_201001271410190001.zip','/static/step3d_201001271410190001.stp','/static/step3d_201001271410190001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271457000001.dxf','/static/dfx2d_201001271457000001.zip','/static/sat3d_201001271457000001.sat','/static/sat3d_201001271457000001.zip','/static/step3d_201001271457000001.stp','/static/step3d_201001271457000001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271458390001.dxf','/static/dfx2d_201001271458390001.zip','/static/sat3d_201001271458390001.sat','/static/sat3d_201001271458390001.zip','/static/step3d_201001271458390001.stp','/static/step3d_201001271458390001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271501510001.dxf','/static/dfx2d_201001271501510001.zip','/static/sat3d_201001271501510001.sat','/static/sat3d_201001271501510001.zip','/static/step3d_201001271501510001.stp','/static/step3d_201001271501510001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271504330001.dxf','/static/dfx2d_201001271504330001.zip','/static/sat3d_201001271504330001.sat','/static/sat3d_201001271504330001.zip','/static/step3d_201001271504330001.stp','/static/step3d_201001271504330001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271535500001.dxf','/static/dfx2d_201001271535500001.zip','/static/sat3d_201001271535500001.sat','/static/sat3d_201001271535500001.zip','/static/step3d_201001271535500001.stp','/static/step3d_201001271535500001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271537200001.dxf','/static/dfx2d_201001271537200001.zip','/static/sat3d_201001271537200001.sat','/static/sat3d_201001271537200001.zip','/static/step3d_201001271537200001.stp','/static/step3d_201001271537200001.zip','','','','','','','','','','');
javascript:openDownload('en','SN0701FLW','/static/dfx2d_201001271540080001.dxf','/static/dfx2d_201001271540080001.zip','/static/sat3d_201001271540080001.sat','/static/sat3d_201001271540080001.zip','/static/step3d_201001271540080001.stp','/static/step3d_201001271540080001.zip','','','','','','','','','','');

